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'RAFFLES GIRLS’ PRIMARY SCHOOL

o PRELlMlNARY EXAMINATION
PRlMARY SiX .-
| ‘2022 -
MATHEMATICS
PAPER 1
(BOOKLET A)
Name: 3 Date : 22 August 2022
Class: P6 _ B Total Time : 1 hour

Math Teacher’'s Name :

' INSTRUCTIONS TO CANDIDATES

___________..___——-—-—

Write your Index No. in the boxes at the top rtght hand corner.

1.

2. Do not turn over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

5. Use a 2B pencil to shade your answers on the Optical Answer

Sheet (OAS).

6. The use of calculator is NOT allowed.
Booklet A 45
Booklet B 55
Your score
out of 100
Parent's
signature
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Questlons 1 to 10 carry 1 mark each Questlons 11 to 15 carry 2 marks each
For each question, four: options are given. One of them is the correct answer.

- - Make your.choice: (1 2, 3 or 4). Shade your answer('! 2,3, or 4) on the OAS prowded.

Al dlagrams are not drawn to scale

C 4.0 2000304=2000000+. - +4
(1) ‘903
(2) 9030

(3) 90300
(4} 903 000

2. In the number line, what is the value representéd by A?

2

(1

N

N

ol s i N=

2)
(3)

[y

N

(4)

3.  Whatis the value of the digit 5 in 78.2547

-

(1) 5

(2) 05
(3) 0.05
(4) 0.005
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4 Gt stiaded 6 of

itsdengthiis o - -

%

. Fini the volumé of the cut

L mamE T

“gom

(W 3em® “ -
@ 8tem® |
(3) 243cm®
(4) 729 cm® x

. " Inthe figure, DEF is an equiléiéral tiangle. Find zz.

;-

7>
80°

(1) 280°
(2) 220°
(3) 140°
(4) 100°
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6. .The figure'shoiws a pyramid... .

"y

B it

Which of the following is the net of the pyramid?
(A) : (B)

© o

(1)
()
3
4)

o o w >

Page 4of 7



7. The ﬁgure-shdw_s part of a scale. o

Which of the following is plosést to the' rgading -stgown? :

[T T

L 400 450J
o _ 8

(1) 405

(2) 410 | -

(3) 4258

(4) 430

4 L S ‘
At a concert, r of the audience were children and the rest were aduits. The

number of men was 2 of the humber of children. What was the ratio of the

number of women to the number of men?

(1) 2:3
(2) 2:7
(3) 3:2
(4) 7:2

Minah makes a chain using 12 red beads and 48 blue beads. What
percentage of the beads on the chain are red? '

(1)  80% ‘ | -
(2) 75%
(3) 25%
(4)  20%
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10.

Wrat is the Ve of > ~ywheny =87

@ 20 - B
@, 18
4y 12

1.

12.

Tasty Bakery had an anniversary promotion for their fruit tarts. Mrs Kbng
bought 72 tarts. What was the least amount of money she had to pay for
the tarts? ' '

. Tasty Bakery Anniversary Promotion

| Trtatforss | GRS
10 taits for-$28 "-_; 1

(1) $196
(2)  $198
(3)  $202
(4  $216

Elyse had a mixture of 10-cents, 20-cents, 50-cents and 1-dollar coins in a
bag. She picked up 5 coins from the bag and used two of them. Which of
the following is not a possible value of the remaining 3 coins?

(1) $1.20
2) $1.80 )
@)  $2.20
4)  $2.50
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14.

15.

"-13. Mrs Chan bought a matiress at a 20% discount. She paid $3200 after the
" discount. Wh'at was the price of the méttress before the Qis_co_gnt?_ .

(1) $4000 | | |

(2) $2560° [ A
(3 $800 ’ .

(4)  $640

What fraction of the figure:is shaded?

W
@
1
@ 3
2
(4) 5

At a fruit stall, mangoes and pears were placed in Box A and Box B. In Box
A, the ratio of the number of mangoes to the number of pearswas 3:4.In
Box B, the ratio of the number of mangoes to the nurﬁber of pears was

3 : 5. There were 4 times as many fruits in Box B as in Box A. What was
the ratio of the number of pears in Box A to the number of pears in Box B?

(1) 1:5
(2) 2:7
(3) 4:5
(4) 8:35

End of Paper
® Please check your work carefully ©
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RAFFLES GIRLS' PRIMARY SCHOOL -~
PRIMARY SIX
2022
MATHEMATICS

PAPER 1
(BOOKLET B)

Name: ' Date : 22 August 2022

‘Class: P6 __ | _ Total Time : 1 hour

Math Teacher's Name :

PRELIMINARY EXAMINATION .. # "

INSTRUCTIONS TO CANDIDATES

Write your Index No. in the boxes at the top right hand corner.

Do not turn over this page until you are told to do so.

Follow all instructions carefully.

Answer all questions.

Use a dark blue or black balipoint pen to write your answers in the
space provided for each question.

Do not use correction fluid/tape or highlighters

7. The use of calculator is NOT allowed.

o

o
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" Questions 16 to 20 carry 1 rﬁark each. Write your answers in the spaces provided.
For questions which require units, give your.answers:in; the units stated. ‘All diagrams

" are not dravwm to scale. Ariswers in fractions or ratio must be expressed in thesimplest -

o form,

. 16.  Find the value of 7 x (54 — 24 + 6) + 4.

Ans:

e ———————————————
oo oy R AT W b P A ST e

17. A charity concert starts at 7.45 p.m. There is a break of 10 miriutes{ The. |
concertis 1 h 45 min long excluding the break. At what time does the

concert end? Give your answer in 24-hour clock.

Ans:
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18. Express *‘s—kas'_a-miqutqgmbgy in the simplest form. * -

ST oL . . : gl I e

Ans: P —— e

19. Find the value of 9.03 — 0.38.

Ans:

20. The average mass of Mr Lim and his 2 children, Andy and Benny, is 44 kg.
The total mass of Andy and Benny is the same as Mr Lim’s mass. What is

Mr Lim’s mass?

Ans: kg
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: Questlons 21 to 30 carry 2 marks each Show your workmg clearly in the space
2 prowded forééch question and write your answers in the spagce- provrded For

raTs

" questions which require units, give your answers i the units stated. All diagramsare”

- not drawn to scale Answers in fractions or ratzo must be expressed in the smp!est
o --form : : .

S 3,
24. - a)Find the value of - 4 5

' 4
b) Find the value of 5 +12

Ans; a)

b)

22. Fiona bought 350 m of ribbon to make some bow ties. She used up all
the ribbon to make 200 large bow ties and 100 smali bow ties. She
needed 1.34 m of ribbon to make one large bow tie. What was the
length of ribbon needed to make one smali bow tie?

Ans: __ _ _ m
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23 The f‘ gure is made up of two identical overlappmg rectangles The
' overlappmg part forms a square of Slde 2p om. Fmd the penmeter of _

" the fi gure in terms of p.

“10p

5p .

L _;12p

Ans: . cm

24. Gupta walked from his home to school which was 2.4 km away.
He walked at an average speed of 80 m/min. How many minutes did he

take to reach school?

Ans:
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o5, In the ﬁgure below CD is parallel to FE arid FEis parallel to GH. Fmd the

" sum ofza Ab and £c T x%'-"sri'aj;.n -

Ans: __
26. The table shows charges for bicycle rental.
BICYCLE FOR RENTAL
For the first hour $2
1 .
For every additional 2 hour $0.80

Kaitlyn rented a bicycle from 9.00 a.m. to 10.45 a.m. How much did she

pay?

Ans: §

Page 6 of 10



| _ 27 The fi gure is formed sing 2. squares and 2 equllateral tnangles. The length of the
stralght Ilne AB is. 25 cm. Find the penmeter of the f‘ igure. . ‘

Ans: ' cm
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28 Yan and Lynn had some stlckers After Yan gave 34 stlckers to Lynn she had 60
o stlckers more than Lynn How many more stlckers than Lynn d;d Yan have at f rst’? '

Ans: _
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| '- 29. The pze chart shows the survey results of the favounte ndes of a group of children
who went to Umversal Studlos 240 puplls enjoyed the Revenge of the Mummy

ide. -

Transformer
Revenge of the
Mummy
40% _ Accelerator

Battlestar
Galactica

10%

Canopy Flyer

The ratio of the number of pupils who enjoyed the Transformer ride to the number
of pupils who enjoyed the Accelerator ride was 4 : 1. How many pupils enjoyed the

Accelerator ride?

Ans:
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ez 30, o Mr Mm used of h|s money to. buy 6 apples and 9 oranges The cost of 3

. apples was the same as that of 2 oranges Wlth the money he had Ieft what U

i

- was the most number of oranges Mr Mm could buy'?

End of Paper
© Please check your work carefully ©
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".':-"RAFFLES GIRLS’ PRIMARY SCHOOL
. PRELIMINARY EXAMINATION
=" PRIMARY SIX -

o 2022
'MATHEMATICS
"~ PAPER 2

Name: e Date :22'August 2022

Class: P6 ____ Total Time : 1 hour 30 min

Math Teacher's name :

INSTRUCTIONS TO CANDIDATES

erte your lndex No in the boxes at the top right hand corner.

Do not turn over this page until you are told to do so.

Follow ali instructions carefully.

Answer all questions.

Use a dark blue or black ballpoint pen to write your answers in the
space provided for each question.

Do not use correction fluiditape or highlighters.

The use of an approved calculator is allowed.

o S

N

Mark ) 55
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o Questions 1to 5 cany 2 marks each Show your workmg cleariy in the space B
provided for each question and write your answers in the spaceés provnded
Figures are not drawn to scale. .

. - For questtons which. require umts Qwe your answers m the umts stated

Answers in fractlons or ratio must be eXpressed in the snmplest form (1 0 marks)

1. A carton of eggs cost $2.40 last year. This yeaf, -the saine __carton' of eggs costs
$3. What is the percentage increase in the price of a carton of eggs? '

Last year - This year
$2.40 ' $3.00 :
Ans : % [2]
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2 A group of puprls were asked to choose one actwnty from canoemg, mnnlng, .

1 K
. '.sw:mmlng and archery The ple chart shows the pupsls chonces -3 of the number of -

pup:ls preferred swrmmmg and archery

a) What percentage of the pupils preferred running?

b) The pupils’ choices were also represented by a bar graph. The bars for archery
and swimming were not drawn. o ' ‘
How many pupils preferred running and archery?

T

Number of 60
pupils 50

!

-.
- e i B PR N WE Vs e ma wn ww e e

K
I.‘

Archery Canoeing Running Swimming

e e o v B AN mm o mm we G o m W [

Ans : (a) (1]

(b) (1]
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©80 PQRS is a thombus. PRandPT are straightlines...-AP'QR = 104° and APTR _

Ans:___ . ° 2]
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4 At a dlnner party the ratlo of the number of men to the number of women was
R B X Another 56, women joined thern. aﬂer the dmner had started. The ratio.of the -

number of men to the number of. women became 3 4 How many people weré at. .

thedmnerpartylntheend'? ‘_-. e e

Ans : i2]
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: Aunt_ie Wendy sells strawbern} and chocolate cakes _ih the canteen. The bar.graphs -

show the number of strawberry and chocolateé cakes sold from January to Margh.

. The difference in. t_he,nun;bga_r of strawberry and chocolate cakes _sd!d inJanuaryis . .

... o .

Number
of
cakes sold| -

DN\

L] [}

Jan Feb Mar
-Strawberry /7/lChocolate

D

Each of the statements below is either true, false or not possible to tell from the
information given. For each statement, put a tick(v’) fo indicate your answer. [2]

(a) The total number of cakes sold
from January to March is 64y.

(b) The average number of chocolate
cakes sold in February and March
is 5y more than the average
number of strawberry cakes sold
in February and March.

(c) The number of cakes sold in
February is 16 more than the
number of cakes sold in March.
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For questions 6 to 17, show your worklng clearly n the space prov:ded for each

. question and write your answers in the spaces provided..

The number of marks avallable is shown in the brackets [ 1 at the end of each questron '

. or part»questlon

- Figures-are not drawri o scale.”

Answers in fractions or ratio must be expressed in the srmplest form ".(45 marks) .

6. The shaded figure is made up of 4 smatl quarter crrc!es and % b|g quarter czrcie ong.

identical squares. The area of each square is 49 cm2 Find the.area of the shaded

22
patt. Takerw = =

Ans : _ [3]
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: ABCD isa parallelogram and LGJD isa trapezrum EB isa stralght hne AB is parallel
to.HG, ZDBC = 75°, £GLD = 65° ZHEK =64° and /BCD=65°. -

(@) Find 4KDJ:

" (b) Find ZEHG.

Ans:{a)_____ M

(b) | @
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The table consmts of numbers from " to 64. John is gwen a plastlc frame that covers

exactly 9 squares of the table with' the centre square darkened

10

11

12

13

14

15

16.]

17

18

19

20

21

23

24

25

26

27

28

29

30

3

32

33

35

36

37

38

39

40

M

42

43

45

46

47

48

49

50

51

52

-

53

54

55

56

57

58

59

61

62

64

60

frame

a) John puts the frame on 9 squares shown in the ﬁghre. What is the average ofthe 8

numbers that can be seen in the frame?

11

17

18

20

21

27

35

b) Next, John puts the frame on some other 9 squares. The sum of the 8 numbers

that can be seen in the frame is 296. What is the largest number than can be seen

in the frame?

Page 9 of 18
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9, Jennle bought some pens at $1 80 each Mary bought some notebooks at $2.50 each
Jenme bought 9 more: |tems than Mary and spent $5 more than she d|d How many
notebooks did. Mary buy‘? - )

Ans : _ .. 3
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10. - The table shows the number of chiidreri visiting the Science Centre from June _to.' _ B

September.
Month | Boys T Gins
~June 235, . | . 121 —
July 123 81
August 111 89
September 140 ?

(a) The number of children visiting Science Centre in August and September is 75% of
the number of children visiting in June and July. How many gifls visited the Science
Centre in September’?

(b) From September to October, there was a 20% increase in the number of boys. Find
the number of boys at the Science Centre in October.

Ans: (a) | i

(b). _ [1
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-1t Atank Was .1_. ﬂl[ed with water. Aﬂer-Tap A was-turned- on for 12 min, Tap B was a!so .-
tumed on, Aﬁer another 16 min, both Tap A & Tap B were turned off at the ‘same tlme :
The line graph shows the volume of water in the tank over 28 min.:

»
200 : —
. 180 = = ==
1160 ———
Volume 140 == —F A
of water 120 -
o ’!
(¢) 100 —F
80 - —
60 - :. \."I/',
40  —
20 #—
PR .
0 4 8 12 16 20 24 28
Time {min)
a) What was the volume of the tank?
b) How many litres of water flowed from Tap A in 12 minutes?
c) In one minute, how many fitres of water flowed from Tap B?
Ans: (@), _ [l
(b) 111
©) _ 2]
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12 The bar graph shows the number of pens soid from January fo Apnl.
L The number of pens sold is not shown on the scale. )

Number of
pens
sold

L

IR
RN

|

January  February  March April

a) MrYoong sold a total of 540 pens. How many pens were sold in March?

b) InApril, Mr Yoong reduced the price of pens by 20%.The original price of each
pen was $2.00. What was the total amount of money collected from the pens
sold in April?

Ans: (a) 23
(b) [2]
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13, "Flgure '1 shows Tank: X whlch is completeiy fi lled Wlth water and Tank Y, which is-
LR empty Waterﬂls poured from Tank X :nto Tank Y wrthout Spllhng The helghts of the :
e .water Ievel in the two tanks are now equal as shown in Flgure 2

1i70 em

:-; :

‘ : 36 om
40'cm 50 cm . ]
Tank X Tank Y . TankX - . TankY
Figure 1 ' ' Figure 2",

a) What is the capacnty of Tank- X'?
b) What 1s the helght of the water in Tank Y in Flgure 27

Ans: (a) _ [1]
(b) _ _[3]

Page 14 of 18
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. | .. 14- -;:.

V‘The f igure.is, formed usmg one rectangle ABCD and two.identical squares EFCG and
' JKEM. ECi is a straight line, DE : DH and ZBCF=20° ' ‘
- {a) ‘I"-'lnfd_--A_EDH._--‘._,-__ '

) Find ZKLA:

Ansi@)
(b). [2]
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15,

v

_your answer to 2 demma! places.

Ans: (a)

(b)

Page 16 of 18

The f gure is fo:med by 1 small semtc:rcle 2 ldentical medlum Semlmrcles and ‘{ brg
"semiclrcle. PQRS isa stralght hne. ‘ - : o :
(a). What is the length of QR? . .. e e T e o T

'.(b) Use the calculator va!ue of 3 to fi nd the penmeter of the shaded fi gure. Round

1
[3]



- 18:

| : : . 1.
: A palnter mlxed red blue and whlte patnt to forrn a mlxture of purple pamt = of the purple

oL 'pamt was made up of red pamt The rat:o of the volume of blue pamt to. the volume of

| -"red palnt wasz 3

S a) What fractlon of the pUrple palnt mlxture was from the white palnt'? 4

' 2 -
.b)Hethen used of the purple palnt to pamt the wall and of the remalmng purple paint

* to paint the ceiling. He had 300 m#¢ of purple paint left.

What was the volume of the purple paint mixture at first?

Ans: (a) [2]

(b) [3]
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Lo

) Sultn bought a total of 1540 beads |n 3 dlfferent shapes for her craﬂ work The ratio of. -
round beads to. square beads is 1 L She used of the square beads and al! of the

" round beads Hatf of the tnangular beads were |eft ln the end the total number of
beads left was 675 '

a) What was the ratio of the total number of round and square beads used to the total
' number of round and square beads leﬂ? ' '

b) What was the number of triangular beads at first? |

Ans: (a) - [

0 [

"End of Paper
Please check your work carefully ©
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f-...TERM 2 PRELIMARY EXAMINATION

| YEAR“"‘:' 2022 S _
 LEVEL : PRIMARY6. . sewe-- ... .
K SCHOOL . ' RAFFLES GIRLS’ PRIMARY SCHOOL S
' SUBJECT : "MATHEMATICS : | -

PAPER 1 (BOOKLET A)

Q | 3 Q2 3 Q3 3 Q4 3 Q5 2
Q6 1 Q7 | a8 Q9

w
w

-9
0
ot
o
E-1

N
o)
=
wn
+

Q11 3 Q12 2 Q13 1 | Qia

BOOKLET B

‘Qi6 | (54-4)
7x50+4
= 354

Ql7 {2140

Qi |1
_ .93

Q19 | 8.65

Q20 |44x3=132
A+B:2u
Mrk:2u

qu =132
lu=33
33x2=66kg

Q21 ||a) 2.8
4 20
15 4 _19

= 4—
20 " 20 20

b) 4 1 1

5 x12 15

Q22 | Meters needed for 200 large : 1.34 x 200
=2.68 x 100 -

=268

Meters needed for 100 skills : 350 — 268 = 82
One by: 82 +100=0.82m -

Q23 | 10p—-2p=8p
10p+5p+8p+3p+3p+10p+5p+8p +
= {52p) cm

Q24 | 2.4 x1000 =2400
2.4km = 2400m
D+S=T

2400 = 30min




Q25 |{b=114 ¢
il o, | €=180-114

B =66 - - .
180-66=114
| 114 ¥114+66 =228 +66 . -
=294 =

Q26 | $2 +0.50 + 0.80 = $3.60
Q27 | 25x5=125¢cm -

Q28 | 2u=94+34
=128

Q29 | T:A

4:1

5u: 25%
1u:5%
40% : 240
1%:6
5%:6x5=30

Q30 (3A=20

6A =40
4u:13oranges

1u = 13 oranges + 413- '
=3R1

3u=3R1x3

= 9R3




YEAR i’ 2022
LEVEL : PRIMARY6

. SCHOOL™: " RAFFLES GIRL'S".PRIMARYSCHOOL

, SUB.IECT MATHEMATICS..
TERM PREI.IMINARY EXAMINATION

(PAPER 2)

.

Q1 |{3-2.40=0.60

inc 060
last yr 240 x 100 = 25

Increase : 3-2.40=0.60

gf’“ 100 = 25%

Q2 25-10=15
50—15=35
15%:30
1%:30+15=2
| 35%:35x2
=70
10%=2x10
=20

Humbet of
pupits

Archery Canoceing , Running Swimming

a) 35%
b) 90

Q3 (180-104) +2=38
180-38—120=22"

Q4 8u=>56

lu=56+8

=7 -
7x(15+20) =245

Qs Statement True False

Not to possible

{a) A

(b) Y
{c) :

v

Q6 |2square:{7x7)x2=98
Area ofa 21x21=441

441 - 1 x7x21x711
98+945 192.5 cm?

tn

» S T T



a7 -

180 — 75 — 65 =40
180 - 65 = 115

{115-75=40" - .

180 — 75 = 105
180-65=115 @
360-115~-105-64=76
a) 40°
b) 76°

Qs .

M| z{3fja|sfje] 7|

» |10|14l1z| 13|14} 35| 18
20 |[21 [J22 | 23 | 24
28)f2e/| 30451 | 32
33|34 ' 38 | 3w 40
41 | a2 a4 l{as|| as | a7 | a8
|a9 50|51 52|53l 54|55 |36

s8|s9|eo|et| 62|63 |be

47 | 18

25 | 28

36 ¥37

NCHE

a) 3+11+17+18+27+354+20+21
' =152
152+:8=19 a%é ¥3 =37 .
Total of the 8 numbers divide 8 to find out average

b) 21+29+35+36+45+53+38+39
=296
Ans: 53

Qs

Cost of 9 more pens
1.80x9=16.20

16.20 -5 = 11.20

11.20 +2.50=4.48
2.50-1.80=0.70

No. of notebooks =11.20 + 0.70
=16

Q10

235 + 121 + 123 + 81 =560
75% x 560 = 420
420-111-140-89=80
100% : 140
1%:1.4
120% : 168

a) 80

b) 168

Q11

1

E:ZO
_1_5

12 2015 =300l (o)

4 min : 420ml lomin —» K X132 = £o

1 min : 5! or . &0y ()
112 -80=32 §o0 -20 -
32-20=12

12:4=3L \€)

Q12

45439 +27 +24=135




135u =540 -
1u =540 135
4x39=156
45 x 4 =180

80
100 x2=1.60

180 x 1.60 =288
a) $156
b} $288

Q13 | 40x30x70=284000

1800 + 1200 = 3000

84000 <+ 3000 = 28cm )
a) 84L : : .
b) 28 cm

Q14 | ECH=90-45-20
=25
EHC=180-45-25
=110 )
180-110=70
180-70-70

=40° (%)

ALE =360 —-90-90 50
=130
180-130=50°( ®)

Ql5 | 40-16=24
%Xnx56=28n
2 mediumsemi: (% xnx40)x2
=40 n
12n+28n+40n=80n
80 =~ 251.33
a} 24cm
b) 251.33cm

Qis % :red

8
yrik blue _
48—-8-12=28
28 _7
48 12
1u =300
300x 3 =900
5u =900
1lu=180
180 x 8 =1440
) A
a
b) 1440ml

Q17 [R:S







NN
=

' v e
=N

=2

n -

=

T

177
117+7=24
1540 - 675 = 865
| 865~ 675 =190
17u-7u=10u
10u: 120
iu:19
17+7=24u
24u : 456
1540 - 456
=1084 _

a) 17:7

b) 1084







